
March 31st                                             5-a-day                                         FoundationMarch 31st                                             5-a-day                                         Foundation

Work out

Give you answer in its simplest form

Work out the area of a rectangle 
with length 6cm and width 2cm.

The rectangle is enlarged by scale 
factor two. 

Write down the length and width of 
the enlarged rectangle.

How many times larger is the area 
of the enlarged rectangle than the 
area of the original rectangle?

What is the gradient of the red line?

What is the equation of the red line?

Name: _________________________________      


